
Nombres Décimaux (B)
Trouvez chaque différence.

9,4 - 0,36 = 58 - 50 =

24 - 2 = 9,7 - 9,2 =

8 - 0,8 = 5,8 - 0,75 =

8,3 - 7,4 = 47 - 6,3 =

6,5 - 3,6 = 0,38 - 0,2 =

8,9 - 0,61 = 30 - 0,21 =

66 - 0,86 = 35 - 3,5 =

36 - 1,5 = 74 - 3,3 =

49 - 0,37 = 66 - 7,8 =

95 - 22 = 11 - 1,9 =
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Nombres Décimaux (B) Solutions
Trouvez chaque différence.

9,4 - 0,36 = 9,04 58 - 50 = 8

24 - 2 = 22 9,7 - 9,2 = 0,5

8 - 0,8 = 7,2 5,8 - 0,75 = 5,05

8,3 - 7,4 = 0,9 47 - 6,3 = 40,7

6,5 - 3,6 = 2,9 0,38 - 0,2 = 0,18

8,9 - 0,61 = 8,29 30 - 0,21 = 29,79

66 - 0,86 = 65,14 35 - 3,5 = 31,5

36 - 1,5 = 34,5 74 - 3,3 = 70,7

49 - 0,37 = 48,63 66 - 7,8 = 58,2

95 - 22 = 73 11 - 1,9 = 9,1
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